Examen 4 (solutions)
201-NYC Algebre linéaire
Professeur : Dimitri Zuchowski

Question 1. (10%)

a) Im(z3) =3 C) 20| = V5 e) P
1

b) Re(z) = —5 d) Arg(z1) = arctan <1) - Z

Question 2. (5%)

a) 4 3i — seractan(—3) b) 7e'iz — Tcos ({3) + Tisin ({5)

Question 3. (35%)

a) 14 — 17 .. V2 V2. f) —15
b) 32+ 42i d) 2+ g) 16i

Question 4. (10%)

cis<k287T>,k::O,1...,7

Question 5. (10%)

== (s () - o () o (3) v 3
Question 6. (10%)

iz —3iz—14+3i=i(z— (1+1)(z— (2—1))
Question 7. (10%)

2% — 524 41323 — 652% + 362 — 180 = (2 — 2i)(2 + 2i) (2 + 3i)(z — 3i)(z — 5) donc z=5.

Question 8. (10%)

Z120 = (a — bi)(c + di) = ac + adi — bei — bdi® = (ac + bd) 4 (ad — be)i = (21 0 29) + (21 A 29)i



